Pre-Calculus 11
Chapter 2 Review Name é&“‘

1. Evaluate the following:

a) 3|-8+ 4| —5|3 - (—2)| b) 4|5 — 2| + 3|5 — 8|
- 3]-4| -5 4| = 43| * 3|3
- 3(@ -5 - 1—[(’5\ +3(3)
= 1A -a5 = 12 +9
= -3 = Al
2. For which values of the variable, x, are the following radicals defined:
a) V8x b) V—8x5 c) Vi6x
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3. Express the following mixed radicals as entire radicals:
a) 3v5 b) (2W§ o) (3x)V2
= 3
TS = 63 =32k A2
-4 as 3[4
d) 4m2nv3 e) (—=2)3/6xy3 ) f) (2m4f\/3m2>
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4. Express the following entire radicals as mixed radicals

a) V162 b) Y72 9 =0
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5. Simplify the following. Answer in simplest form.
a) V7 — V28 +3V63 b) 3v175 — 6v/32 + 98
J—‘,mafg,\[q_-v «54325_7 GJ’G—fJ*W
=7 -2 * 3(aW7 )T - 62 + 142
= - T +ad7 -\%f’ 24{§+’1ﬁ
=BA] «\5 142
c)\/_8—EW )216+«/3T \/_+(3@
RS gﬁ»«J@%B a2+ 33s3
295 2O QT+ 54 - 34T T3
2 . 37 _=z3 3z
- 4 YT ST -3ND tO
=247 -2y3 —
5 = 30 A3
e) 3v3x3 — 3V12x3 f) V32a2b® — ab\/98b
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6. Simplify the following. Answer in simplest form.

a) (6v3)(5v2) b) (4v18a?)(V3a?)
HG)Z alza 7 120 d6

c) 4V5(2v/80 — 3v45) d) 2v5(V6 +v2)
300 12205 = %6+ 2.6
*3(20) -12(19)
160 - %50
Ao
e) (5= 4v3)(=2 +3) 0 (@)~ ¢) (¥2¢ + 5¢)

~ =
F-10+5J3 52 -H0) - $3aa + Hoc YA - 3ac —5¢°
= Cl0r S 343312 = () * HOCAC ~ cFZe -5
AR = 1o¢ +H0cHact - c g -5
g) (—2 - 3v6)* h) (VZ — 3y5ary

N R I OF ~3@(_J‘5/"355@
A6 +6h6 tA(6) = 2-3f1om - 3,Jlom -9 GM)

= A+l A = 2 —bAoMm —HSM
= 5% + 1240

7. Simplify the following. Answer in simplest form. (Note that this means you must rationalize
the denominator if need be...)

a) -5v80 b) i.ﬁ ) 7245
75 75 A5 ¢ Zavzo
=5 N6 - 435 >2,095
:—6(% S 1 JHS
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=-9.
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8. Solve the following. Qe{:\—ﬁcﬁcmﬁ'. ‘
a) \/*+ 7 =13 w-120 b) 8+V5a—5=-3 Eestrichons:
-7 -3 -% 50520
M2 | -
(ﬁ‘ «-5" = (WBa=s)z -1y’ S5
-1 =36 So-5 = 121 o]
+1 + 1 S *S
M=37 207126 0257
7 G 2
c) (\/3_11)1:(\/411 - 1\ QLS-E’{CHW\S d) </1Zo>= (\/Sx - 5@ Qzﬁ‘\'fxd"\ﬂ\s
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